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50 CLEAR :¥=-54;Y=28:FOR Z=0T0 3;CX=X;CY=Y:PRINT #1,Z:Y=Y-12;NEXT Z
68 X=-54;Y=28;C=8;FOR Z=1T0 48;BOX ¥,Y,11,11,1;¥X=X+12;IF XK>54X=-54;Y=Y-12
188 NEXT Z
1Bl ¥=<53;Y=-20;F0R Z=BT0Q 9;:CX=X;CY=Y;PRINT #1,Z;X=K+12;NEXT Z
185 BOX @,18,123,51,3
196 BOX ©,18,121,49,3
118 T=T+1;IF T=U+1T=1
139 CY=-38;PRINT “PLAYER #-,42,7T
131 CY=-38;CX=18;PRINT “MOUE #1*;0=2;E=0;:F=0;6=0
132 IF TR(TIGOTO 132 '
133 IF JYCT)=1E=KN(T)cB4+2;G60TC 135
134 F=KN(T)c24+5; IF F>9F=9
135 CY=-36;CX=52
136 PRINT #1,E,F
137 IF TR(TIE=EbIB+F;GOTO 218
138 6OTO 133
140 CY=-30;:C%=18;PRINT "MOVE #2
141 IF JY(TI=1F=KN(T)cB4+2;GO0TO 143
142 G=KMN(T)c24+5; IF 6>96=8
143 CY=-38;CxX=60
144 PRINT #1,F,G
145 IF TR(TIF=Fbl@+G;6G0TC 147
146 GOTO 141
147 IF TR(TIGOTO 147
148 IF E=F F=8;G0T0O 141
149 GOTO 248
158 CY=48;PRINT “#1=",%#1,A," #2=*,B,"° #3=",C," #4=" W
168 IF L=260TC 99d
165 IF U=1GOTO 138
178 GOTO 119
186 D=RND (48)-1
193 IF @(D)>AGOTo 188
289 @(D)=C;@(D+48)=C;RETURN
218 IF TR(TIGOTO 218
212 G=E;IF @(G)=060T0 138
215 0=0;F=0 ,
228 P=11;Q=2;GOSUB 560
23@ GOTO 149
248 G=F;IF @(G)=0F=6;G0T0 148
. 245 0=08
258 GOSUBR 509
255 BOX @,-38,168,14,2
260 IF @®(E)=@(F)GOTO 328
278 CX=-80;CY=-38;PRINT *“NO MATCH!"®
271 FOR Z=1TO 588;NEXT Z
274 U=8
275 0=1
288 G=E:P=11;0=1
29@ GOSUB 588
380 G=F;GOSUB 588
318 GOTO 118
328 0=8;CX=-88;CY=-38;PRINT "CORRECT!"
321 NT=18
322 MU=49:MU=51;MU=53;: MU="b"; MU=49; MU=48; MU=53;: MU="b " ; MU=43; Mii=48; MU=48; MU=48; M1
U=48 ' ,
323 NT=8
3239 u=1
338 @(E)=0;@(F )=0



335 0=1
348 G=E;P=11;0=1
358 GOSUB 588
36@ G=F;GOSUB 5809
378 IF T=1A=A+1
375 IF T=3C=C+1
376 IF T=4W=bi+1
388 IF T=ZB=B+1
398 R=@
488 FOR Z=0TO 39
4180 IF @(2)8R=R+1
428 NEXT Z;1IF R=0L=2
438 GOTO 158
508 X=-54;Y=28
518 M=Gc1B:N=G-MbiB;X=X+Nb12;:Y=Y-Mbl2
528 IF 0=1BOX X,Y,P,P,Q
525 IF 0=80=2;BOX X,Y,P,P,G
538 IF 0=2CX=¥;CY=Y;TU=@(G)
835 IF O=1IF U=1BOX X,¥,3,9,2
548 RETURN
9@B FOR Z=QATO 39;@(Zy=@(Z+48);NEXT 2
918 FOR G=8TO 338;0=8;P=11;G0=2;G0SUB S@@;:NEXT G
1898 IF TR(1)GOTO 108
1818 GOTO 12088

SPACE CHASE
5 0=0;E=8
18 %(23)=255
28 CLEAR
38 BC=8;FC=25
48 NT=8
58 FOR Z=1TO 5@
‘68 BOX RND (158)-89,RND (88)-44,1,1,1
78 NEXT Z
88 F=50;6=58
98 A=-45;B=15
108 X=48;Y=-182
118 GOSUB 10888
138 CY=44
148 PRINT #8,F,#18,6
168 '605UB 4980
168 IF FO>BIF JX(1)48F=F-1;A=A+JX(13b18; %(21)1=255
178 IF F>BIF JY(LMOF=F-1;B=B+JY(1)bl1B;&(21)=255
188 GOSUB 4089
198 IF F>3IF TR(1)=1F=F-3;GOSUB 120@
208 IF F>1OIF KN(1)¥@F=F-2
218 GOSUB Spea
220 IF GXBIF JX(2)$BG=G-1;X=X+IX(21b18;&(211=255
238 IF GYBIF JY(Z2)#BG=C-1;Y=Y+JY(21b1B;&(21)}=255
248 GOSUB 5008
245 IF FC(LIF GL1GOTO 18
258 IF G3IF TR(2)=16=G-3;G0SUB 13080
268 IF Gr1BIF KN(2)>86=6-2
278 IF JX(1)=8IF JY(1)=BG0TO 299
288 6OTO 138
298 IF JX(2)=BIF JY(2)=8%(21)=8
399 6OTO 138



318 IF L=0IF M=8%(21)=8

320 GOTO 13@
19PB C=¥;D=Y

1818 FOR Z=1T
1948 BOX X,Y
18580 BOX X+2,
1868 BOX X-2,
1B78 X=A;Y=B
1888 NEXT Z
1898 ¥=C;Y=D

1198 RETURN

1208 T=28

1218 IF AXX T=-28
1215 NT=3

1228 FOR Z=1TO 1@

1238 BOX A+T,B,48,1,3

1235 Mi=‘y-*

1248 NEXT Z

1245*n7aa

1258 IF X>A-4BIF X<{A+48G0TO 1278

1268 RETURN

1278 IF Y>B-SIF Y<{B+5GOTO 1298

1288 RETURN

1298 GOTO 1488

1386 T=28

1310 IF X>A T=-208

1315 NT=3

1328 FOR Z=1TO 1@

1338 BOX X+7T,¥,48,1,3

1335 MuU="u"

1348 NEXT Z

1345 NT=8
1358 IF AXX-4BIF ACX+48G0T0 1378

1368 RETURN

1378 IF B>Y-BIF B{Y+BGOTO 1338

1388 RETURN

1398 GOTC 1586

14@@ BOX ¥,Y,15,15,3

1481 IF GX1BIF KN(2)>8G6=G-18;B0X X,Y,15,15,3;RETURN
1485 BOX X,Y,15,15,2

1496 O0=0+1
1418 &¢21)=0

1415 CY=0;PRINT “ORK",#3,0," ELK",43,E

1428 IF £(22)=1BGOT0 1@

1439 GOTO 1428

1598 BOX A,B,15,15,3

1585 IF F>18IF KN(1)>BF=F-18:BOX A,B,15,15,3;RETURN
1518 BOX A,B, 15,15,2
L1515 E=E+1
1528 GOTO 1418
4888 BOX A,B,3,1,
4938 BOX A+2,B,1,
4p48 BOX A-2,B,1,
4858 RETURN
58098 BOX X,Y
5838 BOX X+2,
5848 BOX %-2,
‘5858 RETURN

?
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SLOT
7

3
18
28
80
99
128
126
127
iz8
178
175
181
182
288

368

. 388
428
449
468
486
5008
510
523

525°

548
2918
2820
2036
2848
2058
2960
2865
2078
29838

Zieg

2118
2128

. 38es.

3820
3835
3660
3875
3148
3158
3280
4088
4640
. 4188
41389

MARCHINE

NT=8; UA=15;UR=0; G0TO 5168

PRINT “MONEY IN PLAY = $°,%#1,M,"."°,N,;IF N=BPRINT "8
PRINT :RETURM. . :
M=5:N=0; CLEAR

BC=RND (3238 FC=BC+4+RNI (3238

J=8; 6=0; B=8; C=0; D=8; H=08; 0=8; 5=8

CY=35:605UB 3

IF M=BIF N=BGOTO 5108

IF (JY(1))4(E)E=B;G0TO 178

GOTO 127 |

N=N-25; IF NCBN=75;M=M-1

CY=35;G0SUB 9

BOX: @,8,11@,33,1;BOX @,-32,168,22,2

FOR X=-35T0 355TEP 35;BOX X,8,33,29,2;NEXT X

X=-35;Y=8; GOSUB 6@88;%=8;0=0+1;GOSUB 6@808;X=35; I=D+1; GOSUB 6082

‘I=11; IF H=3G0TO S8@28

I=13;IF (0=31+(0= 2)6¢J=1)G0TO 5008
I=15; IF «(B=3+{B=2b{( J=11G07TC 58849
I=18: IF (S=3)+(5=21h( J=11GOTY 5080
I=28;IF (A=3)+(A=2)b(J=1)G0TC 5088
I=3; IF H=160TC 5808

I=5; IF H=2G0TO 5048

IF J=3607T0 Y808

CK=-7;CY¥=-38

PRIMT "LOSE";FOR Z=38TC B@:TA=Z;MEXT Z;TR=8
GOTO 88

A=A+1; GOSUE 3880 ; RETURN
5=5+1;GOS5UB 3828;RETURN
B=B+1:;GO5UB 3068; RETURN
0=0+1;GOSUB 3148;RETURN

GOSUB 48808 ; RETURN

GOSUB 4168

C=C+1:GOTQ 2838

J=J+1;G05UB 42088;RETURN

IF C=1IF D=8H=H+1

IF C=2IF D=1H=H+1

IF C=3H=3

RETURN

BOX X,¥,25,11,3;BOX X-9,Y,1,98,3:B0X X+39,Y,1,3,3;:RETURN

CEINE X,Y+12,83LINE X-3,Y-12, L;LINE ¥+12,¥Y+3,1

LINE X-12,¥Y+43, 1;LINE X49,Y~-12, 1;LINE X,¥Y+12, 1 RETURN

BOX X,Y,3,19,1;BOX ¥X,Y,7,13,1;:BOX X,v-1,11,11,1

BOX X,Y-2,15,9,1;B0¥X X,¥-2,17,7,1;BOX ¥,¥-5,21,2, 1 RETURN .

BOX X,Y,21,7,3"

BOX ¥,Y,7,21,3

RETURN

BOX X,Y,25,1,1:;BOX X,Y,23,5,1;B0K X,Y,2L,7,1;B0X X,%,18,3,1

BOX X,¥,15,11,1;BOX X,Y,9,13, 1;RETURN

BOX X-8,Y-2,7,7,1:;BOX X-2,¥-8,7,7,1;:BOX X+8,Y-7,7,7,1

LINE X-8,Y+2,85LINE X46,¥Y+11,1;LINE X-2,Y-4,1;LINE X+8,Y+11,1; LINE X+8,%-

SR RETURNM

4208
SBRe
5081
5883

CX=X-113CY=Y;;PRINT "JOKER", ;RETURN
CX=-73;CY=-30

PRINT “MWIMt"

UR=RMD (255 ); TA=RND (583+28;F0R Z=1T0 839;NEXT Z: TA=8;UR=8

,



Se@7 IF A=3IF RMD (5)=3G0T0 7888

5818 PRINT “PAYOFF = “,#1,I,%:1

5828 N=N+Ib25

5938 IF N>7EN=N-100;M=M+1;G0TO 5838

5868 GOTO B8 , .

5188 CY=27;PRINT "YOU HAVE GOME BROKE!

5158 GOSUB 6888; GOSUB 6006

S168 CLEAR ;PRINT “##%% SLOT MACHINE sss%$" ;PRINT
5161 PRINT "THIS IS A 25 CENT SLOT MACHINE.

5162 PRINT "PULL TRIGGER TO START!

5163 PRINT "YOU BEGIN WITH $5.

5165 PRINT .

‘5178 PRINT *NEXT PLAYER PLEARSE!"

5188 IF TR(1)E=1:G0TO 206

5198 GOTO 518

6008 FOR Z=1TO 16;BOX (RND (3)-2)b35,8,31,27,3;NEXT Z;BOX X,8,33,23,2;G0SUB 2088
+RMD (70 18;RETURN

7890 UA=15;CY=-38;CX=0;PRINT “JRCKPOT"‘

7019 FOR Z=255T0 3@8STEP -1;TA=Z;NEXT Z f
7815 FOR Z=1TO 58;&(9)=2Z;%( 18 )=7b3+38; BC= RND (256); FC BC+4+RMND (32)h8 NEXT Z
7828 FOR Z=30TO 255: TA=Z;NEXT Z

7838 M=M+18; TA=0;60TO 99

GAME OF LIFE
18 CLEAR
28 FOR Z=BT0 3939;8(Z)=8;:NEXT 2
32 INPUT "# OF IMITIAL CELLS7"L;PRINT "INPUT LOCATIONS: C[CENTER IS 1381
48 FOR Z=1TO L;PRINT Z,; INPUT "7 KG@(KI=33NEXT Z
45 CLEAR j;G=@"
58 A=0;B=19;C=B;:D0=139;6070 8%
68 FOR X=ATO B;FOR Y=CTO D;E=xXb20+Y;IF @(E)>3GOSUB 1008
- 78 MNEXT YiNEXT X
88 A=J-1;B=I+1;C=L-1;0=K+1
85 J=28;1=0;L=29;K=08; T=8;5=08; U=8:BC=RND (256);FC=BC+12
98 FOR ¥=AT0 B3;FOR Y=CTO D:;E=Xb20+Y; IF @(E)}=3@(E)=18;60TC 2888
108 IF @(EI=138(E=18;T=1;60T0 138
1189 IF @(E)=148(E)=18;T=1;60TC 130
- 128 IF @CE)>1860T0 3988
125 @CEy=8
138 MNEXT YiNEXT X;G=G+1;CY=48;PRINT #3,6;IF (U= B)b(T-l)b(S 86070 15@
. 148 IF (T=1)+(5=1)6G0TO &8
158 PRINT ;PRINT ;PRINT ;PRINT “LIFE IS TERHINHTED!!“;STGP
1668 PRINT “LIFE IS5 STATIC!";5TOP \
1988 IF X{J J=X
1818 IF K31 1I=¥
1828 IF v<L L=Y
1838 IF YK K=Y '
1840 FOR M=-2TO 2STEP 2;FOR N=-1TQ 1;0=MblB+N; @(E+0)=@(E+O0X+1 i NEXT N HEXT M;RETY
BN
2098 S=1;BOX -4@+Yb4, -48+Xb4,3,3,1;60T0 138
3IBPB U=1;BOX -4B+Yb4, -48+Xb4,3,3,2:6070 125

MATH QUIZ
2 -

3.

4

-



5 .MATH QUIZ
8 W=5
18 CLERR -
12 BC=RND (258);FC=BC+11
15 G=8;71t=8
38 A=RMD (W)+5
35 IF Q=18G0T0 2868
40 B=RND (W)+5
S@ S=RND (4)
52 Q=Q+1
55 N=B ;
88 IF S=1G60T0O 208
78 IF S=2G0TO 3688
88 IF S=3GOTC 488
98 PRINT A,#1,"+",B, "=",
188 INPUT *7°C
118 IF C=A+BIF N=@T=T+1;PRINT "RIGHT!";GOTC 38
115 IF C=A+BGOTO 3068
128 N=N+1
138 IF NK3GOTO 98
148 Y=A+B;GOSUB 18080
158 GOTO 38
200 PRINT A,#1,*-",B,“=",
218 INPUT “?°C
228 IF C=A-BIF N=8T=T+1;PRINT "CORRECT!";GOTO 38
225 IF C=A-BGOTO 3080
238 N=N+1
248 IF N¢3GOTO 288
258 Y=A-B;GOSUB 1892
260 GOTC 3@
398 PRINT A,#1,"b",B,"=°,
318 INPUT *?°C
328 IF C=ALBIF N=BT=T+1:;PRINT "GOOD!";GOTO 38
325 IF C=ALBGOTO 38086
339 N=N+1
348 IF MN<3GOTO 308
358 Y=AbB;GOSUB 1898
368 GOTC 38
488 PRINT AbB,#1,"c",A,"=",
418 INPUT *7*C
428 IF C=BIF ‘N=@BT=T+1:;PRINT *TERRIFIC!";GOTC 38
425 IF C=BGOTC 3888
438 N=N+1 ‘
448 IF N<3G0TO 488
450 Y=B;GOSUB 1886
460 GOTC 38
1608 PRINT “THE CORRECT AMSWER IS ",#1,Y
1818 RETURN
2008 PRINT "TOTAL NUMBER CORRECT OQUT OF 18 =",43,T
2818 FOR Z=1TC 1008
2828 NEXT Z ,
2830 IF Tr>7W=W+1
2848 IF T<SW=W-1
2858 IF WClW=1
2P58 GOTO 18
3968 PRINT “YOU GOT ITi*
3916 GOTO 38
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35

- 36
37
38
39
44
58
1%
B85

7@

. 8@
99
109
128
138
149
158
168
178
186
198
208
z18
228
238
233

235

a
236

IF (MO (ML 2 3+ (D1 I+ D31 3+ (Y XCIPRINT “ILLEGAL. ENTRY!";GOTO 38
0=M; R=D;U=Y

%(9)=210

F=BC#4+RND (32)bB;G=F+4+RND (3218
SC1Y=F;&(8)=F; &(2)=6G; &(3)=6
T=C-Y;Y=Tb365+( Tb25c 188 }+( B-1 ) ; U=A-M; M=Ub3B+( Ub55c 188 )
T=Y+M-18:D=Tc33; I=RM; D=Tc28; E=RM; B=Tc23; P=RHM

CLEAR ;BOX -5,8,143,1,1

PRINT #1,0,"-",R,"-",V,#18,A,"“-°,#1,B,"-",C
D=1;F=1;G=1;IF I>16I=33-1I:0=-1

IF E>=14E=28-E;F=-1

IF P>11P=23-P;G=-1

FOR X=-88TO GBSTEF 4

I=I+D;IF I=@D=1

A=( 27225~ ( 1B5- IbEE)b(lES IbZI)))cLQBE

IF A<BD=-1;GOTO 129

A=AbD

E=E+F; IF E=BF=1

‘B=( 196008 ( { 140-Eb28 Ib( 148-Eb2B ) ) )e725

IF B<BE=E-1;F=-1;G0TO 168

B=Bbf

P=P+G; IF P=8G=1

C=(13225-(( 115-Pb28)b( 115-Pb28) ) }c485

IF C<BG=-1;GOTO 288

C=CbG

IF X=-8GOSUB 1988

IF X=-8BBCK=X;CY=A;PRINT "I";CX=X;C¥=B;PRINT °"E";CX=X;CY=C:;PRINT "P";GO0T0 26

IF (X=-8)+(X=68)1CX=X+1;CY=A;PRINT *“I*;CX=X+1;CY=B;PRINT “E";CK=X+1;CY¥=C;PRI

NT *"P";60TQ 268

237
2508
255
260
265
256
278
288
2398
3080

1008

IF X=-76G0TO 268

LINE M,J,8;LINE X,R,1;LINE N,K,8;LINE X,B, 1:LINE N,L,8;LINE X,C,1
BOX X,8,1,55,1

J=A3;K=B;L=C;N=X

IF X=-80=( (A+B+C)c3Ib2+54;CX=-7;CY=34; PRINT "*";IF Q>1880=198

IF (A=8)+(B=0)+(C=0)CX=X+1;CY=-32; PRINT °t

NEXT X

CY=-33;PRINT “TODAY'S INDEX = ", #1,Q
'BC=RND (32)bB;FC=BC+4+RND (32)b8; IF %(22)=15G0TC 1@

F=BC+4+RND (32)08;G=F+4+RND (32)b8;&(1)=F;&(BI=F;&(2)=6;&(3}=6;60T0 238
FOR W=1TO BSSTEP S5;BOX X,8, 1,W,3;MEXT WiRETURN

ALIEN PATROL

28
e
188
L0118

128
130

148
‘168
17|
188
198
288
398
318

BC=5;3:F(C=33;:F=1886; T=5:5=08:0=1
FOR Z=BT0 608;@(Z)Y=8;:NEXT Z
FOR Z=1TQ RND (30}

A=RMND (3)

B=RND (58)

If @(B)>8GOT0 128
@{B)=A;NEXT Z

CLEAR ;A=

GOSUB 388 '

GOSUB 50088

GOTO 5888

BOX 8, -14,168,52,2;:; RETURN
P=RND (3)-2:M=0;C=RND (B8}+3
FOR Z=1T0 68;IF @(Z)=3M=M+1



328
344
3649
1888
1839
1848
1858
1878
18886

18358

1198
11l
1128
2000
2828
2825
2038
2948
2850
29688
2878
2988
2890
zi1a

Z115

2117
2120
2138

2148

2588
2538
2548
2688
2619
2830

2668

2665
2678

2788 -

2785
2718

2758

2768
2775
2788
38088
3883
3895
3|1
3828
3630
3858
Sape
5829
5838

584

- 58548
5860

MEXT Z
IF M=BPRINT

RETURN
Q=0b(-1);5=5+Q

IF 57%605=c0;D=0

IF S{B5=8
F=F~18; IF F<{B60T0 5688
605UB 5888

‘IF S=8D=0;G0T0 1118
IF D=1GOTQ 2008
GOTO BERA

IF F>8IF M=BPRINT
GOTO 6888

F=F-5

IF @(5)=@60T0 2588
MNT=3

IF @(S)=1G0TC Z688
IF @(S5)=2G0TC 2788
PRINT

"ALL ALIENS DESTROYED! ": PRINT

“RETURN TQ BASE! “;A=2

“YOU WON!*:60T0 28

"ALIEN SHIP IMN SECTOR!'”

IF T>BPRINTY “SUB-SECTOR",#3,C
XK=RND (2);IF X=26070 2128

IF ¥=1PRINT
X=RND (3);IF X=1PRINT
IF A=1IF X=160T0 2618
IF X=1IF A=26G0T0C 9684
PRINT "HE MISSED!"

IF T<160TC 2538

IF D=1D=8;G60TC 3883
GOTO 3989

PRINT "SECTOR EMPTY!®
IF D=15=5+Q;GOTO 1639
G07TO 188

PRINT "METEOR STORM!"

"ALIEN HAS FIRED MISSLEL”

*YOU HAUVE BEEN HIT!":;F=F-180

E=RND (2);1IF E=iPRINT “HEAUY",;;F=F-58

IF E=ZPRINT

“LIGHT",;F=F-19

PRINT " DAMAGE! ";GOSUB 5888

“FUEL STATION! ";IF T=8T=5;D=8:6070 2758

INPUT *INPUT SUB-SECTOR®L;:;GOTO 3885

IF X=1D=0;X=8
GOTO 2531

PRINT

IF M=860T0 2758
IF F>433607TC 2538
F=F+508

IF F>1886F=1886
@(5)=0; IF D=160T0Q 2538
GOTO 188
L=C;PRINT

CY=0; T=T-1;C=C+P

GOSUB Zu8

“FIRE MISSLE!";GOSUB 318

IF L=CPRINT "ALIEN DESTROYED!“;@(5)=8;G0T0O 178

PRINT *MISSED!*:GOSUB 5828
COTO 2060
NT=8

CY=44;F=F-1;IF A=1F=F-

IF F<lgana=2
PRINT
PRINT "SHIELDS -,
IF A=1PRINT "UP*

5

*LOCATION: SECTOR® , #4,5



5878 IF A=2PRINT *DOWN"

S@8@ IF MABPRINT "MISSLES: ", #11,T

S@83 IF M=BPRINT "FUEL NEEDED: ", #7,SblS
5985 IF F8F=0

S@99 PRINT °FUEL:",#14,F

5895 GOSUB 2989

5188 IF F<1GOTO 9@ea

5183 IF M>BIF A=2PRINT “DANGER!"

5185 IF T=@PRINT "FIND FUEL STATION!"
511@ IF FC(2@@PRINT “FUEL LOMW!"

5138 RETURN

6898 GOSUB 2P0

6883 IF S=SEPRINT "OUTER LIMITS";GOTO 6018
6885 PRINT

6819 PRINT "1-COMPUTER CONTROL®

6828 PRINT "2-REVERSE"

6838 IF S=BPRINT "3-REFUEL"

5848 IF T>AIF @(S5)=3PRINT *4-FIRE MISSLE"
£859 IF &(23)=8D=1;G0TC 2530

695@ IF &(¢22)=8B=1;GOTO 1808

6B7B IF %(21)=8IF S=BGOTO 2750

6988 IF &(23)=4G0TO 3808

6188 GOTO BBSO

9888 NT=9;PRINT *LIFE SUPPORTS FAILING!®;PRINT “ALIENS HAVE WON!";GOTO 28

TIC TAC TOE

3

4 .

S .TIC TAC ToE
a8

L5

18 CLEAR

2@ PRINT °“DO YOU WISH TO 60 FIRST?"
3@ INPUT “1 - YES 2 - NO"A

4B G=0;H=8"

58 FOR Z=1TO 18

68 €(Z)=0

78 NEXT Z;NT=8;C=8;G0SUB 1809

aB IF A=2R=1;G0TO 288
188 A=2 ,

118 Cy=-38 ,

128 PRINT "MOUE?“,
121 B=KM{1)c25+5
122 IF B»9B=9

123 PRINT %2,B

124 IF TR(1)YG0TO 138
125 GOTO 118

130 IF @(B)>B8GOTO 118
135 BOX -58,8,44,808,2
148 @(B)=1;i;GOSUB 2888
166 D=1;GOSUB 3066

188 GOSUB 4008
185 IF C=8GOTo S8
198 GOSUR 5888

195 IF C=9360T0 58

288 GOTO GOBB
228 IF @(B)>BGOTO B8©5@
239 @(B)=5;GOSUB 2028
249 D=5;GOSUB 3888



260 GOSUB 4088

265 IF C=9G0TO 5@

278 GOSUB SP09
275 IF C=3GOTO 50
.. 288 GOTO 111

1880 BC=RND (255);FC=BC+11;:CLEAR

iBPS GOTO 1858

1313 BOX ©,8,3,6@,1:BOX 28,8,3,68, 1;BOX 18,19,650,3,1;B0X 18,-18,60,3, 1:RETURN
1858 X=-10;Y=-78

1868 FOR Z=1T0 3

1878 CX=X;CY=Y

18868 PRINT #1,Z

19398 X=X+28

1188 IF X>38X=-18;Y=Y+28

1118 NEXT Z
1128 GOTO 1816

2808 X=-18;Y=-28

2818 J=€(B);K=B

28280 K=K-1 ,

2038 IF K=BGOTO 2ZB78

2040 X=¥X+28

2858 IF X>38X=-10;Y=Y+28

2868 GOTO 2628

20768 IF J=1BOX ¥,Y,11,11,2;LINE X-5,Y+5,0;LINE %+5,Y-5,1;LINE X-5,Y-5,8;LINE X+5
, Y45, 13 RETURN

2888 BOX X,Y,11,11,1

2698 BOX X,Y,9,9,2

2188 RETURN ,

3898 IF B=1€(18)=€(18)+D;e(13)=0(13)3+D;@(16)=@( 16)+D
3018 IF B=2€(13)=@(18)+D;@(14)=e(143+D

3928 IF B=3€( 10 =@(18)+D;@(15)=0(15)+D;@( 17 )=€( 173+D
3938 IF B=4@(11)=@(11)+D;@(13)=@&( 13)}+D

30408 IF B=5€(11)=0(11)+D;@(14)=0C(14)+D;@( 15)=€( 16)+D; @ 17)=@(17+D
3PSE IF B=68(11)=@(11)+D;@(15)=0(153+D
" 3@6@ IF B=7€(12)=@(12)+D;@(13)=8( 13 )3+D;@( L7 )=8( 1734+D
3B78 IF B=88( 12)1=€( 12)+D;@( 14 )=@( 14)+D
3880 IF B=S@(12)=@(12)+D;@(15)=8(15)+D; €( 16 )=@( 153+D
3998 RETURN :
490 FOR Z=18T0 i8
4B18 IF €(Z)=3GOTC 39808
4928 IF @(Z)=15G0TO 9108
4838 NEXT 2
4848 RETURN
59PR C=0
5@1A FOR Z=1T0O 9
SB28 IF @(Z3)>AC=C+1
SB30 NEXT Z
5848 IF C=3G60T0O 3288
SA5A RETURN
5688 FOR W=18TO 2STEP -8
6810 FOR Z=1B8TC 18
80208 IF @(Z)=WGOTO 78088
6838 NEXT Z
5048 NEXT H
6058 GOTO 8889
7808 IF Z=1BB=RND (3);G0T0O 7188
7318 IF Z=11B=RND (3)+3;G0TC 7108
7828 IF Z=1ZB=RND (3)+6;G0T0O 7188



7630 IF Z=13B=RND (3)b3-2;G0TO 7180
7848 IF Z=14B=RND (3)b3-1;60TC 7100
7856 IF Z=15B=RND (3)b3;G0TO 7188
7068 IF Z=18B=RND (3)b4-3;60TC 7188
7878 IF Z=17B=RND (3)b2+1

718@ IF @(B)>2GOTC 7088

71168 GOTO 238

8008 C=8

8818 FOR Z=1TO 3

8928 IF €(Z)>aC=C+1

8838 MEXT Z

8858 IF C>4B=RND (3):G0TO 228

8888 B=RND (5)b2-1"

8878 GOTO 220

9808 PRINT “YOU WIN!"

8985 C=3 -

SB1@ H=H+1

98268 PRINT "COMPUTER =°,%3,6

9938 PRINT *- HUMAN =",#3,H

8948 FOR Z=1T0 20080

9858 NEXT Z

9868 RETURN

9198 PRINT *YOQU LOSE TURKEY!®

9185 C=9

9118 G=G+1

9126 GOTO 35829

9288 PRINT “IT'S A DRAW!®

9218 GOTO 5848

 MASTERMIND
5 .MASTERMIND
6 NT=8

1@ CLEAR ;BC=RND (32)b8;FC=BC+4+RND (32)h8
20 PRINT “NEW GAME*

3@ FOR Z=1@7T0 19

48 @(z)=1

58 NEXT Z

68 FOR Z=1TC 4

78 B=RND (3)

75 IF @(B+18)=0G0TC 78

88 @(B+18)=0

99 @(Z)=B

188 NEXT Z

118 N=D

128 PRINT “YOUR GUESS-UALUE-POSITION
125 PRINT * =,

139 FOR Z=5T0 B8

148 @(Z )=KP

158 TU=e(2)

168 NEXT Z

178 N=N+1

180 P-8

198 y=8

218 FOR W=1TO 4
228 FOR Z=5T0 8

238 IF @(Z)=@(W)+4BIF W=Z-4P=P+1

240 IF @(Z)=@(W)+48U=U+1

13



258 NEXT Z
268 NEXT W
278 FOR W=1TO 4
280 T=8
298 FOR Z=5TC 8
308 IF @(W)I+48=(Z)T=T+1
318 NEXT Z
328 IF T U=U-(T-1)
338 NEXT W
348 PRINT 47,U,P
368 IF P#4GOTO 125
37@ PRINT “TOTAL GUESSES™",43,N
380 FOR Z=1TO 2088;NEXT Z;G0TO 18

CALENDAR
9 S=190@;CLEAR ;NT=8
18 BC=RND (32)b8;FC=BC+4+RND (32)b3; INPUT "MONTH?"M; INPUT "YERR?"Y
48 IF Y>SIF Y<S+8860T0 58. ; i
43 IF ¥<5 S=5-28;G0T0 4@
45 IF Y>S+885=5+28;C0T0 48
S8 A=58@; B=N
7@ B=B-1;A=A+38;IF B=8GOTO 100
9@ GOTO 78 -
198 B=Y;C=Y;H=0
183 C=C-188; IF C)BH=H+1;G0TO 183
185 C=19-H; IF C<BC=C+1
188 K=Y;GOSUB 200@;B=B-5;L~Be4; D=Bb3ES+L; P=B-Lb4; IF J=1F=28;R=8;GOTO 178
158 IF P=@F=29;R=1
168 IF P#@F=28;R=8
178 N=0;G=8958;E=M
198 E=E-1;IF E=B8GOTO 248
218 G=6+20;GOSUB G;GOTO 198
248 D=D+N-R;B=Dc7;G6=D-Bb7;G=G+2-J+C; IF G>7G=G-7
285 IF GC1G=G+7
298 FOR X=1TO 38;@(X)=8;NEXT X;U=@;CLEAR ;GOSUB A
358 PRINT Y;PRINT ;PRINT " S M T W T F  S*;PRINT
398 FOR X=GTO (G+C)-1;U=U+1;@(X)I=U;NEXT X;h=13Z=2
448 FOR X=1TQ 38;IF @(X)=8Z=2+4
468 IF @(X)=BGOTC 518
478 IF @(X)<1BIF W=1Z=2
480 IF @(X)>SIF W=1Z=1
438 IF W=1GOSUB 568
@@ IF W>LIF Z{3GOSUB 590
585 IF WXLIF Z>ZGOSUB S6@
510 W=W+1;IF W=8uW=1

538 NEXT X
548 PRINT

558 G0TC 18

560 PRINT #2Z,@(X),

578 Z=1

598 RETURN

598 PRINT #4,8(X),

609 RETURN »

6128 PRINT *  JANUARY  *,;C=31;RETURN
648 PRINT “ = FEBRUARY ", ;C=F;:RETURN
678 PRINT * MARCH  *,;C=31;:RETURN
780 PRINT * APRIL = ", ;C=38;RETURN

14



738
768
798
820
258
880
918
948
978
9309

1819

1838

1950

1878

1898

1110

1138

1158

1178

2Pe8

2038

2960

PRINT * MAaY

PRINT "

PRINT * = - JuLyY
PRINT * AUGUST
PRINT. ©

PRINT * OCTOBER
PRINT " NOUEMBER
PRINT " -~DECEMBER
N=N+31; RETURN

N=N+F; RETURN
N=N+31;RETURN
=N+30; RETURNM

MN=N+31;RETURN

N=N+38; RETURNM
N=N+31;RETURN
N=N+31:RETURN
N=N+38; RETURN
N=N+31:RETURN

N=N+38; RETURN

. C
JUNE H

=31: RETURM
C=38;RETURN

", sC=31;RETURN

*, 3 C=31; RETURN
SEPTEMBER = *, ; C=38:RETURN
* i C=31; RETURN
*,;C=30; RETURN
", 5C=31;RETURN

N=Kc188; I=K-Nb198; IF I48J=8;RETURN
I=No4;K=N-1Ib4; IF K48J=1;RETURN

J=8;RETURN

i3



